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F-406

M.A. (Second Semester)
EXAMINATION, May-June, 2022

POLITICAL SCIENCE
Paper Third

(
)

Time : Three Hours] [Maximum Marks:80

    
Note : Attempt all sections as directed.



(Section-A)

 

(Objective/Multiple Choice Questions)
(1 mark each)

  

Note : Attempt all questions.

  

Choose the correct answer.
P.T.O.
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1. 

(A) 

(B) 

(C) 

(D) 

Federal government is found in

(A) England

(B) Australia

(C) America

(D) China

2. 

(A)  

(B)  

(C)   

(D) 

Which is the characteristic of Federal Government?

(A) Rigid constitution

(B) Supreme Court

(C) Divison of power

(D) All of the above
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3.   

(A) 

(B) 

(C) 

(D) 

From which country did modern democracy originate?

(A) Greece

(B) France

(C) India

(D) England

4.    

(A) 

(B) 

(C) 

(D) 

Which is the best example of unitary government-

(A) America

(B) Pakistan

(C) Bangladesh

(D) England

[4]

F - 406

5. 


(A) 

(B) 

(C) 

(D) 

What is said in America which is called Rajya Sabha in
India?

(A) Parliament

(B) Congress

(C) Diet

(D) Senat

6. 

(A) 

(B) 

(C) 

(D) 

How many states are there in india?

(A) 27

(B) 28

(C) 29

(D) 30
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7.  

(A) 

(B) 

(C)  

(D) 

Which is the best example of presidential system?

(A) England

(B) India

(C) Soviet Russia

(D) America

8.    

(A)  

(B)   

(C)  

(D)  

Which of the following is the function of the legislature?

(A) Law making

(B) Control over the executive

(C) Election related

(D) All suitable

P.T.O.
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9.      

(A) 

(B)  

(C) 

(D) 

Who propounded the separation of power theory?

(A) Madison

(B) Karl Marx

(C) Montague

(D) Maclver

10.      

(A) 

(B) 

(C) 

(D) 

Into how many parts did Perito divide the elite?

(A) Three

(B) Two

(C) Four

(D) Five
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11. The Rulling Elite 

(A) 

(B)   

(C) 

(D) 

The Rulling Elite is the author of the book

(A) Laswell

(B) C. Wright Mills

(C) Moshka

(D) Perito

12.     

(A) 

(B) 

(C) 

(D) 

One party system is found in the government

(A) Dictatorship

(B) Monarchy

(C) Presidential

(D) Ochlocracy

P.T.O.
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13.    

(A) 

(B)  

(C)  

(D)  

Which party system is found in America

(A) One party system

(B) Two party

(C) Multiparty system

(D) Independent system

14.    

(A) 

(B)  

(C) 

(D)  

It is said to be the lifeblood of democracy-

(A) Agitation

(B) Pressure group

(C) Interest group

(D) Political party
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15. 


(A) 

(B) 

(C) 

(D) 

In how many points has Lussian Pai explained political
development?

(A) Eight

(B) Seven

(C) Ten

(D) Nine

16.    

(A)  

(B) 

(C)  

(D) 

It is an instrument of political development

(A) Political party

(B) Army

(C) Revolutionary leader

(D) All of the above.

P.T.O.
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17.    

(A) 

(B) 

(C) 

(D)  

The following is not an element of political socialization

(A) Family

(B) Religion

(C) Murders

(D) Political parties

18.      


(A) 

(B) 

(C)  

(D)   

The process of socialization takes place at the following
levels of human

(A) Childhood

(B) Youth

(C) Whole life

(D) In the last years of the life
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19.  

(A)  

(B)    

(C)    

(D)    

The process of political socialization takes place only in
this societies

(A) All societies

(B) Only democratic societies

(C) Only in all ruling societies

(D) Only in backward societies

20. 
 

(A)  

(B) 

(C) 

(D)  

Socialization is a process by which a person enters in....

(A) Political society

(B) Surrounding

(C) Family

(D)  Political culture

P.T.O.
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

Section-B

  

(Very Short Answer Type Questions)

(2 marks each)

   

Note : Attempt any eight questions in 2-3 sentences.

1.   

Explain demerits of federal government.

2.     

Explain merits of unitary government.

3.     

Explain the characteristics of parliamentry system.

4.      

Explain the demerits of Bicameralism

5.      

Explain the jurisdiction of high court.
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6.       

Explain the merits of political parties

7.  

What is the main function of pressure group.

8.       

Mention two characteristics of bureancracy.

9.      

Explain the meaning of political elite.

10.    

What is political socialization?



(Section-C)

  

(Short Answer Type Questions)

(3 marks each)

    

Note : Attempt any eight question in about 75 words.

P.T.O.
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1.   

Explain the characteristics of federal government.

2.      

Explain demerits of unitary government.

3.     

Explain the functions of legislative.

4.     

Explain the drawbacks of pressure group.

5.      

Explain the merits of bureaucracy.

6. 

What is meant by coalition politics?

7.  

Throw light on the formation of coalition government in
India.

8.        

Describe the main factors of a political party.
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9.      

What is meant by political development.

10.        

Describe the main functions of a political party.



(Section-D)

  

( Long Answer Type Questions)

(5 marks each)

  

Note- Attempt any four questions in 150 words.

1.         

Explain the difference between unitary and federal
system.

       

Explain the principle of separation of powers.

P.T.O.
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3.      

Explain the defects of bureaucracy.

4.    

Explain the importance of pressure group.

5.       

Discuss the objectives of political development.


